7OOQ va pp

| Spft QCD

1

(b, > 0.2 GeV)

do/dAn [mb]
e
Q 9

I IIIIIII| I IIIIIII| [ TTIT

10

llI IIIIIIllI IIIIIIlII IIIIIIlII IIIIIIII| IIIIIIII| [ 11

1073
107
107>

107°

—t

—aa— Pythia 8.150 defaul
1077

1078

_ IIIIWI IIIIIIII| IIIIIIII| IIIIIIﬂ] IIIIIIﬂ] IIIIIIﬂ] IIIIIIﬂ] IIIIIIﬂ] IIIIII"I [T

L1l III|IIII_TIIIHI IIIIIIII| IIIIIIII| IIIIIIllI IIIIIIllI IIIIIIllI

Ratio to Pythia 8.150 default
[N

0.5 - |

Rivet 3.1.0, 7.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

=

0.5



	Contents
	Page 1


